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[55#0 5 FEESIRR] 56 5 IREATHE

BARBER LBICZAH. BPHCESESTS

AFtE

BIRAEASTHEIRSRIER (KPI)

9 IBH ER/(9=3¢])  16.7% <ERE
. « e vt L. |FTEHEER ]| RTEE | R2EE | R3IFE | RAEE R5EE -
izt FRSRIERR (KP 1) ==¥v] Bl = = = = . BiRfE
BER1 FLO-FETHREOHEE
1-1 FEE-FE RO COMIETFETLTLERVEESREEDZIS [ % 96.3 95.9 96.0 94.9 93.9 94.2 T 100.0
(ERR) (95.9%)| (96.0%)| (94.9%)| (93.9%)| (94.2%)
TEHEIRE 0 AZHERE A 0 0 0 0 0 0 -, 0
(ERMER) IZERK ERK IZERK ERK EZER
BER2 fRutoiE
2-1 HIEERNEDIHEE B TEE IR ERETEESRPER [ % 64.0 64.0 62.6 61.3 59.8 60.8 o 100.0
(ERR) (64.0%)| (62.6%)| (61.3%)| (59.8%)| (60.8%)
2-2 EinEREUtOHEE ENERTER % 16.06 16.63 17.08 17.49 18.09] 18.51 . 16.35
(ERR) (98.3%)| (95.7%)| (93.5%)| (90.4%)| (88.3%)
2-3 EHNVE(R)EHLOHEE BBITAEFEFIOF | HEE A 16 20 21 15 19 20 . 30
(ERR) (66.7%)| (70.0%)| (50.0%)| (63.3%)| (66.7%)
2-4 HAREOMBNESR ERERFRIFERRZATZE % 36.4 37.2 33.3 36.4 40.0 40.9 E 60.0
(ERR) (62.0%)| (55.5%)| (60.7%)| (66.7%)| (68.2%)
KR 3 R EEOHEGE
3-1 R O<OHDHEE fERED (B1%) % 81.36 81.80 82.50 81.90 82.00 - 81.36
HEBCFEO7~ERAMRE (GERER) (100.5%) | (101.4%) | (100.7%) | (100.8%) - ) DFIE/H
fERED (Z1%) % 85.55 85.00 85.40 85.70 85.70 - 85.55
HER D7~ 8RR (ERR) (99.4%) | (99.8%) | (100.2%) | (100.2%) - (DFEAH
3-2 HEEEARSIDHEE EEAFHIORERCHELTVSETZHDEE| % 42.3 - 44.1 - 25.0 | s 50.0
XRIT3-5ETHRT >~ NRENE GERMZR) - (88.2%) - (50.0%) o
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[(55F0 5 FEHEBIR] 56 5 RMAEHRSEHE pRIBARSTENRIERE (KP I)

BAXBE RROBEVWF2EH. EFTEUTERTS

10 IEH ERR/ (1013 1) 11.1% < iEpK
o . = L. |ETERER | RTTHEE | R2EFE | R3FE | RAFE R54FE =
ijick 3 MBRiER (KP 1) ==Ly} = i i i P =i SEELE
KR4 FREBOHE
4-1 FREBEOHEE FREEE (NER) % 83.7 81.4 85.4 88.2 86.6 87.0 i 90.0
(GERRR) (90.4%)| (94.9%)| (98.0%)| (96.2%)] (96.7%)
FREEE (PER) % 86.3 82.8 86.2 90.0 87.6 88.9 i 90.0
(GERRR) (92.0%)| (95.8%)| (100.0%)| (97.3%)] (98.8%)
KR 5 HEFEOHE
5-1 £EFZ0HE FEBROSINEL A 141,935] 117,928 53,386| 53,210 65,307 77,298 Sz 145,000
(GERER) (81.3%)| (36.8%)| (36.7%)| (45.0%)] (53.3%)
BIEI)=fanyiiie= i 293,595] 279,438| 207,232( 208,938| 230,433] 241,543 Sz 300,000
(GERER) (93.1%)| (69.1%)| (69.6%)| (76.8%)| (80.5%)
BER6 ZAR—Y-ALOixE
6-1 ZR—YDIRE AR—VYHEESFI A EE A 452,609] 416,848| 251,812| 258,200( 281,456| 357,917 460,000
(90.6%)| (54.7%)| (56.1%)| (61.2%)| (77.8%)
B1EI EEE - 2R-VETZERELEADEIE| % 46.0 55.2 52.4 - 48.1 - 65.0
HR3: SATEY >~ hRRH (84.9%)| (80.6%) - (74.0%) -
6-2 b =R h)IMR—IVAIBEEL A 99,080 92,410 17,664| 34,040 65,098] 76,637 109,000
(84.8%)| (16.2%)| (31.2%)| (59.7%)]| (70.3%)
BRIEMEEALEH A 35,035\ 29,492 12,742 15,805| 18,112] 21,844 50,000
(59.0%)| (25.5%)| (31.6%)| (36.2%)| (43.7%)
EMELEAGEN A 11,283] 11,894 6,651 7,435 8,000] 9,225 12,000
(99.1%)| (55.4%)| (62.0%)| (66.7%)| (76.9%)
1IN IEELEAGE A 30,983 28,102 15,419 20,954| 19,338] 42,701 35,000
(80.3%)| (44.1%)| (59.9%)| (55.3%)](122.0%)
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[(55F0 5 FEHERIRR] 56 5 RMAEHSEHE pRIBARSHENRIERE (KP I)

BARBRE ANE. [EDVWEENHMBES

9 IEH SER/(9=%])  28.6% <IEMRE
- o — [emel| RAEE | R2EE | RIGE | RAGE R—Lfﬁs 5 —
ijick 3 BERIER (KP 1) ==Ly} = = =4 = =4 o SEELE
R 7 EHEOIRE
7-1 TEOIRE I EE =t 790 893 772 878 972 -l 950
R RRREREIEORRCSEY  (ERE) (94.0%)| (81.3%)| (92.4%)| (102.3%) - :
7-2 FE-H—EXEOIRE ERIIRFSAR = 1,111 - -l 1,117 - | 1,147
KBRS IRORRICE SIS ECLEDIER (GERE) _ _ (97.4%) _ - :
XIR(CLDEIZEEL (ShFERET) % 14 2 19 38 47 53 P 65
GERE) (3.1%)| (29.2%)| (58.5%)| (72.3%)| (81.5%) (83
7-3 EMEEOIRE PR RN TS h a 12.7 9.6 11.4 9.5 11.8 169 o0 6.7
GERE) (69.8%)| (58.8%)| (70.5%)| (56.8%)| (39.6%)
EEWERIRIEE h a 69.7 99.5| 118.1 97.8| 1165 1057 _ 130.0
GERE) (76.5%)| (90.8%)| (75.2%)| (89.6%)| (81.3%)
R 8 Hug&EROER
8-1 J5>ROIRE BT RIvIFosas ToVRats | ¢4 13 13 22 25 25 25 oo 20
(GERE) (65.0%)| (110.0%)| (125.0%)| (125.0%)] (125.0%)
8-2 BOIRE B A | 476,100] 447,700| 149,000| 192,000| 236,200/ 377,800 __. .| 495,000
(GERME) (90.4%)| (30.1%)| (38.8%)| (47.7%)| (76.3%)
BHK9 BGRIROFTE
9-1 BCREDIER PRI ZADOSIIE S A 602 494 589 514 897 1,075 . 650
GERE) (76.0%)| (90.6%)| (79.1%)| (138.0%)|(165.4%)
MEFHESERUY LA I-0288| A 5024 5086 4,989 4,995 4,972] 4,930 .. 5,100
GERE) (99.7%)| (97.8%)| (97.9%)| (97.5%)| (96.7%)
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[(55F0 5 FEHEPIRR] 56 5 RMAaHiESEtE pRIBARSHENRIERE (KP I)

BEFXRER T2 70T, BRARRERETDIIS

9 IBH ERK/(9—=[%1) 28.6% < IEMKEK
- e — [Fereh| REE | R2EE | R3EE | RAEE R—Lfﬁs 5 —
it FSRIER (KP 1) Bifi7 = = =4 = =4 o BiRME
BER1 0 REXROHEE
10-1 fEH- B - IR SRODHEEEE Bﬁﬁé%ﬂl{ﬁ?ﬂﬂ‘%iﬂ A 14,800f 17,308 11,001 - 7,640 13,031 K 20,000
SEBEH DAL o I OARREIARE (s pyg) (86.5%)| (55.0%)| - 38.2%)| (65.2%) "
A= )VEE@HNMOETZEE A 6,200 8,281 9,121 10,400 13,807 14,261 K 15,000
(CEMR) (55.2%)| (60.8%)| (69.3%)| (92.0%)| (95.1%)
HIPEIEIEZR (18~30i%) A 130 115 111 97 84 62 o 180
(CEMRR) (63.9%)| (61.7%)| (53.9%)| (46.7%)| (34.4%)
10-2 AELERMROUEE ABRBH U % 236 142 124 124 147 146 " 180
GERE) (126.8%)| (145.2%)| (145.2%)| (122.4%)| (123.3%)
KR 11 BER2OKEE
11-1 BARBORE MR ERPEEE t 359,000] 305,000| 284,000 304,000| 316,0001307,000| _ . 263,000
KRACERMEZ RBEURS, RIFTIERBELAIO N N *E’m
s (GEREK) (99.7%)| (107.0%)| (100.0%)| (83.2%)| (85.7%)
11-2 AEFRIBROHEE — A—BEEDOBRPICHEFHE g 576.9 598.0 598.3 597.4 600.2 586.4| | 601.3
KRIICEFREZRBEUS, R2ETERELAID N N Em
i GERE) (94.6%)| (94.6%)| (100.7%)| (100.2%)| (102.5%)
BER1 2 ERERRORE
12-1 FEERIROFRE FEOMEILE % 74.9 76.4 77.2 78.3 79.4 79.9 o 92.0
(CEMRR) (83.0%)| (83.9%)| (85.1%)| (86.3%)| (86.8%)
FE-EMORMFAIIHTREEE | % 12.2 - - - 18.1 | 15.0
KRIE~3-SEHET Y~ MRS (GERR) - - - (120.7%) = '
AE - SHWORMIAIZMENGEEE| % 22.0 - - - 15.6 | x 19.2
XRIE~3- SRV — NRES (EREK) - - - (123.1%) - ’
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[(55F0 5 SFEHERIRR] 56 5 RMAEHiSEtE pRIBARSHENRIERE (KP I)

BAXBER BREREEFEZX. EFHHEITEVES

7 IEH IERR/(7—=1%]) 60.0% <«EmHKE
" — — [ieEaE | ReEE | ROEE | R3GE | RAGE s ~
it FSRIER (KP 1) B[ = = =4 = =4 o BiRME
KR 1 3 FTEMTHAIRAOHEE
13-1 ETERY A OHEE sTEN T HAARCEHIZIHROBEE | % 12.5 - 12.6 - 11.1 i 13.8
RT3 SR>~ bR (CEMR) = (91.3%) = (80.4%) -
STEMTHAIACETIMRONEEE | % 20.3 - 21.8 - 18.4 | % 19.0
XRT-3- SETHRT >~ NokaEis (GERXR) = (87.2%) = (103.3%) -
KR 14 #HHEEOREH
14-1 FERBIREBHREOE E ETETENEIR O RE % 58.26 58.22 58.22 58.27 58.27 58.27 e 60.00
(CEMRER) (97.0%)| (97.0%)| (97.1%)| (97.1%)] (97.1%)
SRErER % 9.43 19.88 23.97 29.42 33.96 39.11 = 37.51
(CEMRER) (53.0%)| (63.9%)| (78.4%)| (90.5%)|(104.3%)
2IF—-NZADFIAEEL A 133,582| 124,917 102,893] 101,523| 106,383 105,335 e 139,000
(CEMRER) (89.9%)| (74.0%)| (73.0%)| (76.5%)] (75.8%)
14-2 L TFKEOHERE - E{m KEEROME{CER % 13.8 17.4 18.5 19.3 19.8 20.7 2 18.5
(CEMRER) (94.1%)| (100.0%)| (104.3%)| (107.0%)| (111.9%)
TKEEROME{CER % 54.6 58.3 58.7 60.3 60.4 61.3 = 58.2
(CEMRER) (100.2%)| (100.9%)| (103.6%)| (103.8%)] (105.3%)
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[(55F0 5 FEHERIRR] 56 5 RMAaHiESEtE pRIBARSHENRIERE (KP I)

BAXRBE #ARBTIE. N RBERRZIRTS

10 I8H ERR/(10=3%1) 50.0% <IERE
. X - v |EtEFEER | RTEE | R2EE | R3FEE | RAEE R55E N
ijick 3 BERIER (KP 1) I==tiv} Bl o . . =g = BiZfE
Bk 1 5 #higaz1-FsDiRE
15-1 MEHRSOHEE MBERA S DEANSHNE 2L A 283 286 - - 170 300] . 300
XR2-3FFTEIIOF V1) ABREORET e s ’Eﬁﬁ
AL (ERR) (95.3%) - - (56.7%)] (100.0%)
BRIRECBIIPUEEREDERE | % 32.4 32.4 32.9 33.3 34.5 35.2 P 40.0
(ERR) (81.0%)| (82.3%)| (83.3%)| (86.3%)| (88.0%)
15-2 fhisE e DR XADIIAZRK % 84.1 82.9 82.1 81.5 81.6 79.8 P 85.0
(ERR) (97.5%)| (96.6%)| (95.9%)| (96.0%)| (93.9%)
EPRZTRBEELANAY MIEADSIIER | A 1,181 1,231 1,148 720 1,392} 1,780 " 1,300
(ERR) (94.7%)| (88.3%)| (55.4%)| (107.1%)|(136.9%)
KK 1 6 MBESDHEE
16-1 HHErJRERMTHABUES MBGAREEBLRERERES =1 12 17 17 25 32 35 ., 15
(ERR) (113.3%)| (113.3%)| (166.7%)| (213.3%)| (233.3%)
&&= =M 241 226 226 229 224 217 SiEH 210
(ERR) (92.9%)| (92.9%)| (91.7%)| (93.8%)| (96.8%)
16-2 NBMEOES EIE{L NHAEE (BERETD) OEKREE| m 305,000] 290,582| 289,892| 291,022 290,674] 291,502 R 282,000
(ERR) (97.0%)| (97.3%)| (96.9%)| (97.0%)| (96.7%)
16-3 1 CT (lBEHlB{ESHii) A1 FIBREN R 1F s ORI LR | B 7 7 7 7 7 o 10
FUSE R DHEE HRSIER7. LUAIHEE (GERK) (70.0%)| (70.0%)| (70.0%)| (70.0%) -
A1 > F S OF AHEER 1 44,8931 45,135| 41,809 48,396| 49,968 s 60,000
HRSIERT. IR (ERR) (75.2%)| (69.7%)| (80.7%)| (83.3%) -
A=T>7 =5 RS % 6 6 6 6 6 24 . 20
(ERR) (30.0%)| (30.0%)| (30.0%)| (30.0%)](120.0%)
16-4 [LIATEIDHERE IR - - - - -1 -
R5EE
IZRN 13
FIERK 29
X 12
- 1
ER/(54—1%1)|31.0%|<EmMEK
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